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=~ RS EN R
I o i N B feg ik A Bl s (LB AV B 0 A2 = - = ABEHVRZ =S E W A\ By
RIEVNE - [ER PR - o ooy s SR A Ry 7 AT G ) -
(—) AR HERAEE
LESFhE
def pt#cit 2 £ (self):
if self.same_pl > O:
samedice = random.randrange(9, 6)
self.£ + £ M [samedice]+=self.same pl
self.#r3 + 4 % {fr[samedice]+=self.same_p1l
for i in range(5-self.same_pl):
dice = random.randrange(0, 6)
while self.4 + £ [dice] != 0:
dice = random.randrange(0, 6)
self.ki £ £ M [dice]+=1
self.#r3 £ fr[dice]+=1
else:
for i in range(5):
dice = random.randrange(0, 6)
self.i £ £ M [dice]+=1
self.#r3 £ % fr[dice]+=1
if self.same_p2 > O:
samedice = random.randrange(0, 6)
self.{s+ + M [samedice]+=self.same p2
self.#r3 + 4 % {fr[samedice]+=self.same_p2
for i in range(5-self.same_p2):
dice = random.randrange(0, 6)
while self.fs+ £ [dice] != O:
dice = random.randrange(0, 6)
self.{s+ M [dice]+=1
self.#r3 £ % fr[dice]+=1
else:
for i in range(5):
dice = random.randrange(0, 6)
self.fs+ M [dice]+=1
self.#r3 £ % fr[dice]+=1
2. BEERFITA UM
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def A2 &2 44 (self):
all act = []
if self.playerSymbol==0: =P i = self. L+ iy
else: =pS 1 = self.ie =+ 21
for A% in range(1,11):
for A% in range(1,7):
o o= (S, 5B
if self.»" A F &% (self.x 5+, Rreriig):
all_act.append(#7 gw4ag)
Freovl g o= [-1, -1] #¥4
if self.e" W £ F £ (self.x 4 e, F7ereiig):
all act.append(#7ereig)
return all_act

3. e S T
def v M & _F &% (self, mre'M, F7Hi7):
if #rée ¥[1]==-1:
return self.i £ =g 1= self.= 2>ix5 =4
Ak, BB = #rdiv[0], ArHiT[1]
return 2B > R [1] or (BB == Re'#[1] and B2 > R='[0])

(=) #mE

Il =Wl
def __init__ (self, pl, p2):
self.#r3 + 1 % {- = np.zeros(6,dtype=int)
self.A++% = np.zeros(6,dtype=int)
self.fs++ 4 = np.zeros(6,dtype=int)
self.x 4+ = [0, O]
self.z 2>ix3 v'% = [0, 0]
self.r" M %4 = [0, O]
self.pl = pl
self.p2 = p2
self.isEnd = False
self.winner = 0
self.stateHash = None
self.playerSymbol =
self.same pl = ©
self.same p2 = 0
self.p B e T+ ()
2. 705X FAZ
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def play(self, rounds, show=True, winword=True, count=False, reward=1,
penalty=0):
L4, 54 =0, 0
%<+ old, {4+ old = 0, ©
if count:
rounds_count = np.zeros(62,dtype=int)
for i in range(rounds):
if i%1000 == 0:
if show:
print("Rounds {}".format(i))
print(x £ -4+ old, ¢+ -1+ old)
£+ o0ld, {4+ 0ld = £%, {5
while not self.isEnd:
# P1
act = self. 22 £:24.% ()
pl action = self.pl.chooseAction(act, self.X £ =i, self.
M e bk, self.AE E0g)
st np = [self.*" % 4x[0], self.r' M % 4x[1]]
for i in range (1, self.pl.history):
if i*2 >= np.size(self.r'i % 4%):
st_np = np.concatenate([st_np, [0, 0]])
else:
st_np = np.concatenate([st_np, [self.r'if % &%
[i*2],self.e" i & gx[i*2+1]]])
if self.pl.ptype == "RLnew":
st_np = np.concatenate([st_np, self.L <+ £4])
st_np = np.concatenate([st_np, pl_action])
else:
if pl_action[@] == -1:
st_action = [-1, -1, -1]
else:
st_action = [pl_action[@], self.x <+ £43
[pl_action[@]-1], pl_action[1]]
st_np = np.concatenate([st_np, st_action])
st_hash = str(st_np)
self.pl.addState(st_hash)
if pl_action[1l]==-1:
if self. k= x &2 F ():
if count:
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rounds_count[int(len(self.r" % 4%)/2)]+=1
self.giveReward(reward, penalty)
self.pl.reset()
self.p2.reset()
self.reset()
break
self. { A7 4p};w(pl_action)

# P2
act = self. A4 &34 ()
p2_action = self.p2.chooseAction(act, self.X £ =i, self.
v e bk, self.fs £ W)
st np = [self.*" % 4x[0], self.r' M % 4x[1]]
for i in range (1, self.p2.history):
if(i*2 >= np.size(self.¥'p x4x)):
st_np = np.concatenate([st_np, [0, 0]])
else:
st_np = np.concatenate([st_np, [self.r'if % &%
[i*2],self.*"g e 4x[i*2+1]]])
if self.p2.ptype == "RLnew":
st_np = np.concatenate([st_np, self.i s+ +M1%])
st_np = np.concatenate([st_np, p2_action])
else:
if p2_action[@] == -1:
st_action = [-1, -1, -1]
else:
st _action = [p2_action[@], self.i{s=+ i3
[p2_action[@]-1], p2_action[1]]
st_np = np.concatenate([st_np, st_action])
st_hash = str(st_np)
self.p2.addState(st_hash)
if p2_action[1l]==-1:
if self. k= x &2 F ():
self.winner =1
self.isEnd, &% = True, & <*+1
else:
self.winner = 0
self.isEnd , £ % = True, £%+1

if count:
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rounds_count[int(len(self.r" % 4%)/2)]+=1
self.giveReward(reward, penalty)
self.pl.reset()
self.p2.reset()
self.reset()
break
self. { A7 4w (p2_action)
if rounds%1000 == 0O:
if show:
print("Rounds {}".format(rounds))
print(x £ -4+ old, ¢+ -1+ old)
£+ o0ld, {4+ 0ld = £%, (5%
if winword:
print("Z=%1 % F  "+str(& £ *100/rounds)+'%")
else:
print(str(- <+ *100/rounds)+'%")
if count:
print("# #cizt")
for i in range(62):
if rounds_count[i]>0:
print(str(i)+"# "+str(rounds_count[i]))
(=) Iix
RO w2l
def __init__ (self, name, ptype="RL", history=1, do_shuffle=False,
para=[0.2, 0.1, 0.9]):
self.name = name
self.ptype = ptype
self.states = []
self.1lr = para[0]
self.epsilon = para[1]
self.decay_gamma = para[2]
self.states _value = {}
self.do_shuffle = do_shuffle

self.rand_area = [0.25, 0.5, 0.75]
self.history = history

2. BEREEN(E
def chooseAction(self, actions, % v, v M sk, Nendig):
if self.ptype=="RAND":
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return random.choice(actions)
exparea = 2.0
if self.ptype=="EXPRAND":
exparea = random.random()
if self.ptype=="EXPO" or exparea<=self.rand_area[9]:
HSek, Bk =150
cnt = min(len(actions)-1,5)
r = random.randint(@,cnt)
if A2 [ AE-1]+1 < BB
return actions[-1]
else:
return actions[r]
elif self.ptype=="EXP1" or exparea<=self.rand_area[l]:
ASEE, BB o= 325109
i =0
for i in range(6):
if A g[i] >= &5 B
BEB o= AenEigli]
BB = i+l
if 5B+l < BB
return actions[-1]
else:
return self.honestAction(actions, W, [ %8, & 3 B
+1])
elif self.ptype=="EXP2" or exparea<=self.rand_area[2]:
Sa, BB = 344
5B =0
for i in range(6):
if Aen£g[i] >= &5 B
BEB o= AanEigli]
A 1
if B ==
return [ % 8, & % B ]
elif & % B+1 < BB
return actions[-1]

i+l

else:
return self.honestAction(actions, e+, [ 58, & % B
+1])
elif self.ptype=="EXP3" or exparea<=1:
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Sek, Bk o= 150
i =0
for i in range(6):
if A2 [i] >= & % B
BEB o= Aendigli]
B 5B = i+l
if B == 0:
return [# % 8, & % B+1]
elif & 7 B+1 < BB
return actions[-1]
else:
return self.honestAction(actions, =W, [ %8, &% B
+1])
if self.ptype=="RL":
if np.random.uniform(@, 1) <= self.epsilon:
idx = np.random.choice(len(actions))
action = actions[idx]
else:
value_max = -999
if self.do_shuffle:
random.shuffle(actions)
state = [*'W & &[0], "M esr[1]]
for i in range (1, self.history):
if i*2 >= np.size(*'M % 4x):
state = np.concatenate([state, [0, 0]])
else:
state = np.concatenate([state, [*'M & &x[i*2], ='W %
#r[1*2+1]]])
for a in actions:
if a[@] == -1:
new a = [-1, -1, -1]
else:
new a = [a[@], &+ [a[0]-1], a[1]]
next_state = np.concatenate([state, new_a])
next_st_hash = str(next_state)
value = @ if self.states_value.get(next_st _hash) is None
else self.states_value.get(next_st_hash)
if value >= value_max:
value_max = value

action = a
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return action
if self.ptype=="RLnew":
if np.random.uniform(@, 1) <= self.epsilon:

idx = np.random.choice(len(actions))

action = actions[idx]

else:
value_max = -999
if self.do_shuffle:
random.shuffle(actions)
state = [v'"M & 4x[0], "M e 4x[1]]
for i in range (1, self.history):
if i*2 >= np.size(*'M % 4x):

state = np.concatenate([state, [0, 0]])

else:
state = np.concatenate([state, [*'M &4 [i*2], ='W &

#[1*2+41]1])
state = np.concatenate([state, # 5= 4])
for a in actions:

next_state =
next_st_hash = str(next_state)
value = @ if self.states_value.get(next_st _hash) is None

np.concatenate([state, a])

else self.states_value.get(next_st_hash)
if value >= value_max:

value_max = value
action = a

return action

3.HHr QH

def feedReward(self, reward):
if self.ptype=="RL" or self.ptype=="RLnew":

for st in reversed(self.states):
if self.states_value.get(st) is None:

self.states value[st] = ©
self.states_value[st] += self.lr*(self.decay_gamma*reward -

self.states value[st])
reward = self.states value[st]
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